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ﬁg TREOBEBOSILEHOKRES TERFDOHBEEILNOKRES TEFEOBBOEILADKRES TREOHBESEILADKES
R o | BT e | B2 | e | o e | B2 | B TR e | B2 | T | & | T
1 100kN/m##8% % 1.00{0.00 ~ 1.59 124.33| 3m%x#B2 5 = Rt = = —| 100kN/mM%#2 % % 1.00{ 10.61 ~ 15.91 124.33| 3m%x#B 25 =l ~ - - =
s 1.00]1.59 ~ 9.38 100.00f Zhki4t |0.00 ~ 9.38] 245 13.10 s 1.00f 5.00 ~ 10.61 100.00| Z=hl4t | 5.00 ~ 1591 2.45 13.10
9 100kN/m##8 %% 1.00{0.00 ~ 1.98 130.56| 3m%x #8225 = Rt = = —| 100kN/mM%#2Z % 1.00{ 11.14 ~ 18.50 130.56| 3m*x B2 5% =l ~ - - =
s 1.00/1.98 ~ 9.76 100.00f Z=hkl4t |0.00 ~ 9.76] 2.58 13.78 s 1.00f 500 ~ 11.14 100.00| Z=hl4+ | 5.00 ~ 18.50| 2.58 13.78
3 100kN/m##8 %% 1.00{ 0.00 ~ 0.95 114.27|3m%x#B25 = Rt = = —| 100kN/mM%#2Z % 1.00{ 1214 ~ 16.69 114.27| 3m%xB25 =l ~ - - =
s 1.00/095 ~ 8.74 100.00f Z=hkist |0.00 ~ 8.74] 2.13 11.38 s 1.00f 500 ~ 12.14 100.00| Zhl4t | 5.00 ~ 16.69 2.13 11.38
4 100kN/m##8 %% 1.00{ 0.00 ~ 0.87 113.00| 3m%*#B 25 = Rt = = —| 100kN/mM%#2 % % 1.00{ 1254 ~ 17.00 113.00| 3m%x#B 25 =l ~ - - =
ZHnLs 1.00/0.87 ~ 8.65 100.00f Zhkl4t |0.00 ~ 8.65| 2.10 11.26 s 1.00f 500 ~ 1254 100.00f Z=hl4t | 5.00 ~ 17.00f 2.10 11.26
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00]0.00 ~ 4,67 58.19| Z#hLlst | 0.00 ~ 0.00| 1.62 8.66 s 1.00f 500 ~ 5.00 58.19| #hl4+ | 5.00 ~ 500 1.62 8.66
7 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00/0.00 ~ 6.73 85.02| #h L4t |0.00 ~ 6.73| 2.62 14.04 s 1.00f 500 ~ 10.71 85.02| #h L4t | 5.00 ~ 10.71| 2.62 14.04
8 100kN/m##8 %% 1.00{0.00 ~ 1.50 122.91|3m%x#B25 = Rt = = —| 100kN/mM%#2 % % 1.00{ 1211 ~ 17.74 122.91|3m%x#B25 =l ~ - - =
s 1.00]1.50 ~ 9.29 100.00f Z=h k9t |0.00 ~ 9.29] 2.70 14.45 s 1.00f 500 ~ 1211 100.00| Z=hl4t | 5.00 ~ 17.74] 2.70 14.45
9 100kN/m##8 %% 1.00{0.00 ~ 1.95 130.02| 3m%*x#B2 5% = Rt = = —| 100kN/mM%#2Z % 1.00{ 11.28 ~ 18.57 130.02| 3m%*x#B 25 =l ~ - - =
s 1.00/1.95 ~ 9.73 100.00f Zhkl9t |0.00 ~ 9.73] 2.60 13.90 s 1.00f 500 ~ 11.28 100.00f Z=hl4t+ | 5.00 ~ 18.57| 2.60 13.90
10 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00{0.00 ~ 3.73 47.01] =xns | 000 ~ 3.73| 2.16 11.57 s 1.00f 500 ~ 5.10 47.01] =nklst | 500 ~ 5.10| 2.16 11.57
» 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00{0.00 ~ 3.73 47.01] =xns | 000 ~ 3.73| 2.14 11.48 s 1.00f 500 ~ 5.00 47.01] =nklst | 500 ~ 5.00| 2.14 11.48
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
Fhst ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
Fhst ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
Fhst ~ st ~ FhLst ~ ZhLst ~
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